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LO: T can add and subtract

Revise

Add and Subtract Whole Numbers Using the Formal Written Method nf Column
Addition ond Subtraction

Wi san uss farmal writhen mathads for adding or subtrasting largs numbsrs. Thay ars salled
columnar methods besauss the numbsrs o linsd up undsrneah sach othar cecarding 5o the
placs velus solumns.

Column Addition
Samamber to add the digéts in TThiTh v | T | 0O
ach column starting fram the

right-hand side.

Only write a singla digit in the
answer box of cach ploce value

columa If the tatel s mers * T 9 8 6
than nine. regroup inta the

nast column. & 3 & 1 4
Vhen regrousing, remambar tn

include this whan adding the R N

digits in the mest column.

Column Subtraction

Tl TRl B | T | O Semambar ta subtrast the digits
in sach column starting from

raradan the right-hand side

You must ahways subtract
the bottom numbar from tha

- 7|19 |86 top number.
When the top digit is smaller
2 (7|6 |82 than  the  bottom  digit,
exchenge from tha

e plaze valus salumn.
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LO: I can add and subtract

Write the missing digits to moke these coloulotions correct.

] a 5 2

Write the missing numbars to moke these coloulotions correct.

s —

In sach row; tick tha calculation that hos the greater answer.

[ag - 333 = |393.7 -5532 = |

[s,mz - 549 = Ja,sw.a - T4LE = |

The numbsers in this sequsnce decregse by the same amount soch tima. Write
the naxt number in the seguence.

54,398, 53,548, 53,296, 52,748, E

Tick the correct methods for colouloting 359 - 94 mentally, storting from 359.

subtroct 100 then add & add & then subtract 90

subtroct & then subtract 100 subtroct & then subfroct 90
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O: I can add and subtract . Prestics

I hove 4,561 stickers in my callsction. T buy 2 lorge pocks of stickers. Each
large pack has 27 stickers. T add these to my collection. Then, T give 125
stickars to my brother. How mony stiskars do I have in my collzction in tatal?

Shaw
o
ruthod

At the stort of the doy, thare were 2,874 compustar gamas in the shop. During the
doy, 369 more computar games were delivered and 481 computer games were
sold. How many computar gomes ware left in the shop at the and of the doy?

gaur
s

gamas

B Thare are 3,500 buttons in o tin. Tewa peapls take 375 buttons each. Thres maore
paople toke 405 butbons each. How many buttons are lft in the tin?

Shaw
ruthad
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Practize
LO: I can add and subtract B30 Wt e o of v 2 20
Show

]

20, This tabls shaws the numbsr of psosls going to the local cinema sach manth.

March 45,619
JlLril 52,985
May 45,021
Jung 50,092
o) How many people, to the nearest thousand, want ta tha cinema in tobal over
tha four months?
S
yeur
mehed
people

b} WWhet iz tha differanca, to tha nearest hundrad, betwean tha number of paopla
who want to the sinema in March and April?

o

rrehzd.
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LO: T can add and subtract

L AAGE HEEE
-lalsls]7 ilal7]s
a|z|o|s5 Llojs|1

21 40000
73,000

3 |a?'sas-isz Isvs.hsads-iﬂ.mf I

|a'.'m- 540 -a,u-sfls.a:s.a -7aas-aos-x|

4 52,196

" | subtract 100 edd § then
then add & + subtract 90

subtrace & than [ subtract 4 then
subtracé 100 subtrack §0 +

& 3T=3-111
4561 + 111 = 0472
LTI - 135 = 4547
& 547 stickers

7. 2874+ 365 = 3243
3243 - 481 = 2762
2,762 games

8. 375=2=750
405 = 3 = 1215
1215 + 750 = 1945
3500 - 1965 - 1535
1,535 buttans

9. £20.00 - £7.76 - £12.24
E12.74 + 4 = £3.08
£3.06

10.6) 46,000

B

53,000
49,000
+ 50,000

198,000 people

53,000

- 45,600
T.400 people
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Please only continue to the other slides if you are NOT comin
into school at all
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LO: T can multiply and divide

4

&
r4
g3
=| |49
sl2ls]7
2|3 2|0
z|s 6|7

We con use long maltiplication whan we ore multiplying
numbars that hme bwo or mare digits.

Multiply sach digit in the top number by the first digit
in the multiplier, regrouping and plocing into the nedt
column if necessary. Strikz tha regrouped numbers onos
you have your first orewer so that you don't confuse any
R regroupings.

On the naxt rew, ploce o zero to show that you ore about
to multiply o power of ten. Then, multiply eoch digit in the
top number by the next digit in the multiplisr, regrowping
and placing into the next column if necessary.

Finally, add the digits in eoch column using

calumn addition to find the answer _
to the multiglication. ,ﬂm

June 05, 2020
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LO: T can multiply and divide

1
= = jw |~ |9

RIS [k

Wz con use long division whan we are dividing o

number by o hero-digit nember or lorgar.

Start by dividing the first two digits of the dividend
by the diwisar. Write the answer above the horizontal
ling end the multiplz of the divisor under the dividand.
Usz column subtraction to caloulote the rempindaer

ond drow down the nadt digit of
the dividand

Rapent this procass wrtil the
and of the caloulation.

June 05, 2020
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LO: T can multiply and divide

1. Write the missing digits to maks these caloulotions correct

s|:|a 9|:|5
S w Y rarars o)

2 Write the missing numbars to mohe these coloulotions cormect.

kR Here is @ number pyremid The number in eoch box is the product of the two
numbars balow i Wirita the missing numbers.

57.5
| | = |
| [ 2 | |

4. Write the correct symbel, <, = or =, in sach box to moks the
statemants correct.

12-12D1&-1{l 150'—5{!@210#?(}

June 05, 2020
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LO: T can multiply and divide

5

&,

7.

LR

& shophseper is packing eggs. Each bo holds & sogs. The farmer has 2,230
cpgs. Haw many full baves can the farmar pack?

Shaw
e
mpemas

[R—

A growp of frisnds sarm £161 by washing cars, They shars the monsy squally.
Thay get £27 each. How many friends are in the groug?

A bow contains trays of tomotacs. There ore 45 tamatoe: in o troy. Thare ars &
trays in a box. A supermarkat sells 50 bowes of tomatoes. How many tormatoss
dows the supermarkat sall?

Shew
our
rrurthod

June 05, 2020

10



Year 6 maths- summer 2 week 2- 4 operations.notebook

LO: T can multiply and divide

& Thers are 34 pupils in o closs. The seacher hos T litres of aranga juice. She
pours 120 millilitres of arange juica for avary pupil How mush orange juice is

left over?

Show

matid

I

9. Write the missing numbars to moke this multislication grid correct.

a8 | 72|98

54

10. 1 buy soma apples at the shop. T can buy 12 individual apples for 57p sachara
bag of 12 opples far £6.50. Which is the cheapar option? Explain yaur rensaning.

[ 12 individual apples for 57p | A beg of 12 apples for £6.50

0
O

June 05, 2020
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LO: T can multiply and divide

1. Three toy cars cost the sams as two teddy baors. One taddy bear costs £3.75.
How much does ana tay car cast?

S

12, Writa the missing numbers to maks these coloulotions correct.
(100—D]:-=]-165 [100‘[3].-:.-50

13 Hore are five number oards, Use three of the number cards to maka this
caloulation corract.

| 18 | 10 | 2 | 5 | 7 |
OO0

14 Writa the correct symbal, <, * ar =, in each bax to make the
stotements corract.

| (43 + 56) - 32 | | (93 +32) - 56 |

| 9 = (35 + 17) | | (312} = & |




LO: T can multiply and divide
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al2]s FIRIE
- 7| [s]ele]z]s
AHED
L5
L0

57.5

75 9

375| 2 |;.5

1230+ 8 = 153.75
153 full boxes

161433 =7
7 friends
45 = & = 180

180 = 50 = 2000
9,000 tomatoes

34 = 180 = 6120
7000 - §120 - 380

880 ml
= 9 |12
g |72 |98
6 | 54|72

10

1.

1z

13,

17 individual | &bagof1z
pples for 57p Mgpples for £6.504
e

Accept any explanation which
howes tha o bag of apples is 36p
cheaper than the individual apples.
For example, 57p * 12 = 684p =
£6.84. This is 34p more expensive
than buying one pack for £6.50.
Two teddy bears = 2 = £3.75 = £7.50
Ora tay sar = £7.50 + 3 = £2.50
£250

(:me-)sz-laj
(:m-];n-ao

ofafak

(43 + 58)- 32| = (53 ‘321—5a|

|g*(2s—:21m (mu};z.l

June 05, 2020
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LO: T can multiply and divide

June 05, 2020
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